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Calcium carbonale reacts with phogphorsc ackd to produce cal cium phosphare, carbon domsde, and) wal e
A How many grams ol phogphosec acsd react with sscess cal clum carbonate To produece 3. 74 g ol
calciwm phomphate™ { 2. 38 g HPO)
B Chalculste the mumbss ol groame of carben disxeds (ormed wilh 773 g ol el & i8 peosducssd,
.88 g COy)
Fiiric scid and znc reacd 1o form zine nidrade. ammosiem nifrate, and waler.
a. How many atoms ol Znc react wiih 1.40 g of niiric add? (8.8 X 10" atoams Inp
b. Calculate the numbsr of grams of zimc that must react with an essosss of nitric ackd te Torm 29,71 g o
T rareum reirete  (PS.2 g Zin)

Hiyehr i i (P i Uit il A rocket fusl. 1 rescta wrlh osygsn 10 Form mlrogen Arel sl &0,
a. FHow many lites of MNtrogen gas (al STP form whan 1.0 kg of hyrdeazies reacteswith 1.0 kg of oxpgen
s (.0 & 107 L M)

b How many grams of the axcess reaciant memain atter the reaction? (no read et 10 eaoses)
WWhan 20,0 g ol alicon dicxids S P e wal h & excsas of Caibon, 32,2 g ol alicon cannids (30 - anct P
Pio i Crieh Moo e,

&  Whai isthe parcent yield of tRisreaciion™ (P84

b FHow many grams ol carbon monoxide gas are made T (458 g
If ihe reaction below procesds with o 88 B%ymelod. how many kilograms of Calocivm suliaie are formed wihen
524 hg sildwr choxicks react s wilh sxcess of Calciwvm carbonale amd oxygenT (PO T kg SxE0L)

Cally + B0y + O - Cadl, + O
Ammonium floale wall decomposs egploavely 8 high 1emperatuees Lo Form mbrogen, coygen, and wal ar
wapor. ([PELNCL = Bow FUD + T Whalt s the fodal rember of Ilers ol gas formeed when 228 g of am moed uwm
niirade is decomposed? [ Acoune ST (234 L od
Bl aloohol (SHOH) can b prochssed By the ieoment adicn ol glocosa | ikt Bl takes 500 b io
procuce B kg of aloohal, Fow mary days will it (aks o consume 1,0 x 10" kg of glucosa™ (T3 days)

G 0y, = CobOH + OO

What inthe limiting resctand wien 15000 g of b, reacts with 3217 g of H; 1o produce MNMA,T fine LD
A 500 g swmple of aluminum sutole is reacted wel h 450 g o calcium hyoroxide. A {olal of 528 g of cab=um
asHads is producec. What i tha lsmdling react e |m s react ion, and how many moles of eoceas react 2l
are unreact a7 LA IS M S0l T. 09 el Saf O8] - e gl
150G ol Hycliogen Arg sl s will SScemm car b maoncsios, Row many grama of OHOH are prod sced,
based or a yield of B8 OO+ H, = THFLOH (34 g CHyOM)
The decompomtien ol pof s wn chlioraie yeslds oopgen gas. H thea peld is 5% how many grams of
ot ammum chilormle are nesced 1o pecduce 10.0 L of cxygen; the olber procuct o B0 7 (384 g ooy
Fiot 1 ha raact ion of 1 he Syt R oooasm chicrsde, haw My gf ams of Godku m chloride could b produced
Fromm 1330 g ol sodicm anad 13.0 L o chlorires [l STF 7T (873 g A}
ldentily which of Ehass unbal saced squalions repremnt redos resc o,

a Lo+ FLD =¥ LDk = s e Al HO =R O = Hs

b MO0 e HO 9 FIO = Gy = HyO « Oy d F,«5 3PS
Foor mach redon aqual ion in problem 13, sdentify whal is oockzed and whad s ned sooedl

ol prheapehor us in each oulbalanos,
a PO, bPOY e PO d RO, e PO, TOHPOLY
Wi e BB complded @ ionic equation and sl lonic equal ion 1o sach of Ehe Jolowing:

a. In + WG % W + I,

b FolMNOj, = Ral % MNalNO, « Pbi,

Bl o | ha 'IEIII:rHIrF waidh The Peall remction meeFod iman achioo o et rall sol et iore

B HES + MO, S =D+ MO,

B MHT o+ O o ROy s HD
Bniancs the following '"m_..""gdf rech o mert hoad in o b molulvor

a Br, '1-:.!]!3.
B Zn + L =T o Zn



